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11.(1,—2) 12.0<b<2  13. 30 14, 1580 75CEX VNERE 351, MBS B 2B A5G 1)
= ORI 2 /N, B/ N8 43, 143 16 53)
15 ff#:(x— 1> = 16(343)
x—1=48x - 1=-4(64))
X1 =-3,x,=5(84))

16. i :

(1) GBI b2 1 B AR AR 2R 5 (343)
() VEEIIER; (643)
5.0 P AEAR A (-2,-1) (843)
PO | (AR AL 2 /)N /N 8 43, 1 43 16 43)
17. WK R x4, 56 M (60-x) 4, x(60-x)=864.(44))
f#AS x) = 36,x, = 24 (4722 )(643)
- M x=36F,60-x=24,36-24=12.

R Z 1248 .(84))
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18, fif: (1) - F R R B TS AR AR (1, —4) , B 3E 8 4 (4,5) , B KRB el y =
a(x—1)7-4,(24%)
844,55 AT 5=a(4-1) -
fitft:a=1,
JIF AR AFGA Ay = o? - 20— 3 .(54%)
(2) 5 PE y B W |m] ,
WA -4<m<4,
LNy =2 -2x-3=(x-1) -4,
TE-4<m<4 B}, -4<n<21.(84))

F(ARSGEHE 2 /N, R/ NEL10 43, T 4320 77)

19. % (¥ ECL,5) A0 A ymoxth Flly = %ﬂﬁ%‘abzak:s(z%)

S F AR (5, 1) (65T)
(2) -+ HEy=—x+6 MBI S X T A, Sy T B AL,
.4(6,0),B(0,6).

SAEOF:SAAOB'SAAOF‘SABOE:%X6X6—%X6X 1 —%X6>< 1=1 8-6212.(8 ﬁ:}‘)

(3)0<x<1mix>5.(1043)
20.yEM . (1) - BELEF, . /BEF=90°, .. BF 2O O 4% . WK, %8 0E(14%)
-*BE-%y/ ABC, ./ CBE=/ OBE.

“OB=OE, .. LOBE=/O0EB.

. /OEB=/CBE. ..OE/BC.(34})

: B 0 HIFA
S LAEO=/C=90°, .. ACZEOO M .(54%)

(2) K, %4 DE(657) 5520 B 2R

"+ /CBE=/OBE,EC1LBCT C,EH1LABTH,

.EC=EH.
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-+ /CDE+/BDE=180°,/ HFE-+/ BDE=180°,
./CDE=/HFE.(74})

/CDE = / HFE
TEACDE S5 AHFEW ,§ £C = LHFE = 90°
EC=EH

. ANCDE2AHFE, .. CD=HF.(104})
75 (AU 43 1257)
21. (D) BRI ECH 60+60%=100, C 25 FHCR 100-(60+20+5)=15. (EWE) (3 43)

60+20+ 15
YE————

—0&0 IN
100 x100=95%.(647)

(2)ZAIN RS IRAT TARRI I (4 B C IR

G)RPIRIET QR

EIHZEF‘3ZJIZ42E?[1EﬁSZJlZqualEﬁZZJIZJZEﬁIEﬁ2q33Z12q31Eﬁ2Eﬁ3ZJI(loé}.)

8 2
Pipgrmpipgm—om) = 20 " g-(lZﬁJ\)

R4 1257)

55k+b=65,,,
60k + b= 602

22, (1)ity—ket HABAT
fifi Ak =-1,b=120.
JreR — R R ik R y=-x+120.(3 43)
(2) i O 584 B Bty x Z IR A R RN
0=(x-50) (-x+120)=-x + 170x — 6000(5 %)
O=—2 + 170x — 6000 = ~(x — 85)> + 1225

x =50

%J{xgoso <4O%,ﬁ’%ﬁ§f50<x<7o.(7é})

FIT LA 253808 B 1 Sk 70 TTH 2% R AT ARAS e R, e RRTE 2 1000 7T . (8 43)
(3)24 —x? + 170x — 6000 = 600

%'f&xl = 60,%2 = 110(10§Z}')
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PR ARG 5T 40%,
It LB i i 50(1+40%)=70(1143)
FrL60 < x<70.(1243)
I\ AR 43 1453
23. (1) e iR, £ CE'B=£ AEB=90°,
N AERER S CESE T F 45, . LFEB=/AEB=90°.
N - ZEBE'=90°, ... lUillJ¥ BEFE"ZHi¥ .
M BE=BE', .. VUil BEFE'E1E 5 TE .(443)
(2)n& , 3 55 DAE DHLEA , & /& 4 H.

i DA=DE 15 AH=%AE. (543) D

LHDA+/DAH=/EAB~+/DAH=90°, \

S LHDA=/FEAB. )

N -/ DHA=/AEB=90°,AD=AB,

. ADHA= A AEB.

. AH=BE=FE',
e 1 LR, CE'=AE,
1
2
(3)IFE T BEFEM K N x.

1ERtACE'BW, CE'=3+x,BE'=x,CB=AB=15,

W FE'=AH=—CE', ) CF=FE' (84})

oo (B3 x =152, A =9 (i 5 x=—12).(1043)

A, it 5 DVE DHLEA, 3Ej Ry H, [7] (2) I ADHA= A AEB,
-.DH=AE ,AH=BE=BE.

. CE'=AE=DH=3+9=12 , HE=AF-AH=12-9=3.

TE RtADHE W, 18 DE=V DH* + HE*=3\/17.(144})
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